

$$2 \times \boxed{9} + \boxed{1} = 19$$

$$(19 - \boxed{1}) \div 2 = \boxed{9}$$

$$19 \div 2 = \boxed{9} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{5} + \boxed{1} = 11$$

$$(11 - \boxed{1}) \div 2 = \boxed{5}$$

$$11 \div 2 = \boxed{5} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{8} + \boxed{1} = 17$$

$$(17 - \boxed{1}) \div 2 = \boxed{8}$$

$$17 \div 2 = \boxed{8} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{4} + \boxed{1} = 9$$

$$(9 - \boxed{1}) \div 2 = \boxed{4}$$

$$9 \div 2 = \boxed{4} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{7} + \boxed{1} = 15$$

$$(15 - \boxed{1}) \div 2 = \boxed{7}$$

$$15 \div 2 = \boxed{7} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{3} + \boxed{1} = 7$$

$$(7 - \boxed{1}) \div 2 = \boxed{3}$$

$$7 \div 2 = \boxed{3} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{6} + \boxed{1} = 13$$

$$(13 - \boxed{1}) \div 2 = \boxed{6}$$

$$13 \div 2 = \boxed{6} \text{ 余り } \boxed{1}$$

$$2 \times \boxed{2} + \boxed{1} = 5$$

$$(5 - \boxed{1}) \div 2 = \boxed{2}$$

$$5 \div 2 = \boxed{2} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{9} + \boxed{1} = 28$$

$$(28 - \boxed{1}) \div 3 = \boxed{9}$$

$$28 \div 3 = \boxed{9} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{3} + \boxed{2} = 11$$

$$(11 - \boxed{2}) \div 3 = \boxed{3}$$

$$11 \div 3 = \boxed{3} \text{ 余り } \boxed{2}$$

$$3 \times \boxed{7} + \boxed{1} = 22$$

$$(22 - \boxed{1}) \div 3 = \boxed{7}$$

$$22 \div 3 = \boxed{7} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{3} + \boxed{1} = 10$$

$$(10 - \boxed{1}) \div 3 = \boxed{3}$$

$$10 \div 3 = \boxed{3} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{6} + \boxed{1} = 19$$

$$(19 - \boxed{1}) \div 3 = \boxed{6}$$

$$19 \div 3 = \boxed{6} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{2} + \boxed{1} = 7$$

$$(7 - \boxed{1}) \div 3 = \boxed{2}$$

$$7 \div 3 = \boxed{2} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{4} + \boxed{1} = 13$$

$$(13 - \boxed{1}) \div 3 = \boxed{4}$$

$$13 \div 3 = \boxed{4} \text{ 余り } \boxed{1}$$

$$3 \times \boxed{2} + \boxed{2} = 8$$

$$(8 - \boxed{2}) \div 3 = \boxed{2}$$

$$8 \div 3 = \boxed{2} \text{ 余り } \boxed{2}$$

式を完成せよ。但し、は
掛けられる数やわる数より小さく。

$$3 \times \square + \square = 28$$
$$(28 - \square) \div 3 = \square$$
$$28 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 25$$
$$(25 - \square) \div 3 = \square$$
$$25 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 22$$
$$(22 - \square) \div 3 = \square$$
$$22 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 19$$
$$(19 - \square) \div 3 = \square$$
$$19 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 16$$
$$(16 - \square) \div 3 = \square$$
$$16 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 13$$
$$(13 - \square) \div 3 = \square$$
$$13 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 10$$
$$(10 - \square) \div 3 = \square$$
$$10 \div 3 = \square \text{ 余り } \square$$

$$3 \times \square + \square = 7$$
$$(7 - \square) \div 3 = \square$$
$$7 \div 3 = \square \text{ 余り } \square$$

$$4 \times \boxed{9} + \boxed{1} = 37$$

$$(37 - \boxed{1}) \div 4 = \boxed{9}$$

$$37 \div 4 = \boxed{9} \text{ 余り } \boxed{1}$$

$$4 \times \boxed{2} + \boxed{2} = 10$$

$$(10 - \boxed{2}) \div 4 = \boxed{2}$$

$$10 \div 4 = \boxed{2} \text{ 余り } \boxed{2}$$

$$4 \times \boxed{8} + \boxed{1} = 33$$

$$(33 - \boxed{1}) \div 4 = \boxed{8}$$

$$33 \div 4 = \boxed{8} \text{ 余り } \boxed{1}$$

$$4 \times \boxed{2} + \boxed{1} = 9$$

$$(9 - \boxed{1}) \div 4 = \boxed{2}$$

$$9 \div 4 = \boxed{2} \text{ 余り } \boxed{1}$$

$$4 \times \boxed{7} + \boxed{1} = 29$$

$$(29 - \boxed{1}) \div 4 = \boxed{7}$$

$$29 \div 4 = \boxed{7} \text{ 余り } \boxed{1}$$

$$4 \times \boxed{1} + \boxed{3} = 7$$

$$(7 - \boxed{3}) \div 4 = \boxed{1}$$

$$7 \div 4 = \boxed{1} \text{ 余り } \boxed{3}$$

$$4 \times \boxed{3} + \boxed{1} = 13$$

$$(13 - \boxed{1}) \div 4 = \boxed{3}$$

$$13 \div 4 = \boxed{3} \text{ 余り } \boxed{1}$$

$$4 \times \boxed{1} + \boxed{1} = 5$$

$$(5 - \boxed{1}) \div 4 = \boxed{1}$$

$$5 \div 4 = \boxed{1} \text{ 余り } \boxed{1}$$

式を完成せよ。但し、は
掛けられる数やわる数より小さく。

$$7 \times \square + \square = 64$$
$$(64 - \square) \div 7 = \square$$
$$64 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 36$$
$$(36 - \square) \div 7 = \square$$
$$36 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 57$$
$$(57 - \square) \div 7 = \square$$
$$57 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 29$$
$$(29 - \square) \div 7 = \square$$
$$29 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 50$$
$$(50 - \square) \div 7 = \square$$
$$50 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 22$$
$$(22 - \square) \div 7 = \square$$
$$22 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 43$$
$$(43 - \square) \div 7 = \square$$
$$43 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 15$$
$$(15 - \square) \div 7 = \square$$
$$15 \div 7 = \square \text{ 余り } \square$$

式を完成せよ。但し、は
掛けられる数やわる数より小さく。

$$7 \times \square + \square = 69$$
$$(69 - \square) \div 7 = \square$$
$$69 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 41$$
$$(41 - \square) \div 7 = \square$$
$$41 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 62$$
$$(62 - \square) \div 7 = \square$$
$$62 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 34$$
$$(34 - \square) \div 7 = \square$$
$$34 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 55$$
$$(55 - \square) \div 7 = \square$$
$$55 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 27$$
$$(27 - \square) \div 7 = \square$$
$$27 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 48$$
$$(48 - \square) \div 7 = \square$$
$$48 \div 7 = \square \text{ 余り } \square$$

$$7 \times \square + \square = 20$$
$$(20 - \square) \div 7 = \square$$
$$20 \div 7 = \square \text{ 余り } \square$$